AP Calculus AB												Name__________________________________
“Up Through” Lesson 3-2 Learning Check					Date ________________________________

      	NO CALCULATOR
[image: ]
1.







[image: ]
2.		

																						***From 2017 exam







[image: ]
3.	
[image: ][image: ]
																						***From 2017 exam







[image: ]
4.	

																						***From 2017 exam












																										OVER 
         CALCULATOR ACTIVE


5.	If then



(A) is not continuous at .
(B) 


is continuous at but does not exist.

(C) exists and equals 1.

(D) .
(E) 
does not exist.

	




6.	Where is the function  nondifferentiable?  Why is it nondifferentiable at that point?








7.	Let .  Find .
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For any function f, which of the following statements must be true?
L 1If fis defined at x = a, then lim f(x) = f(a).
xa
1L If fis continuous at x = a, then lim f(x) = f(a).
xoa
1L If fis differentiable at x = a, then lim f(x) = f(a).
=

(A) Mlonly
(B) TandIlonly

(C) Mand Il only
(D) I1ILand IT
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‘The continuous function f is positive and has domain x > 0. If the asymptotes of the graph of f are x = 0 and
v = 2, which of the following statements must be true?

(A) lim, f(x) = and lim f(x) =
x>0 xo2

®) lim /() =2and lim /() =0

(© lim f(x)=oand lim f(x)=2
x=0° xm

() lim f() = and lim [(x) =2
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‘Which of the following expressions does ot give the
value of f(3) for a differentiable function f?
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If f is the function given by f(x) = 3x2 — x then the average rate of change of f on the closed interval [1, 5] is

A) =21 (B) -13 © -12 D) -9
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The graph of which of the following functions has exactly one horizontal asymptote and no vertical asymptotes?




image4.png
e +1




image5.png
1
A) y=——
x

“+1

1
B) =
® Pl




